1/c0 do/dA

Ratio to ALEPH

0.5

91 GeV ee vy*/Z (Hadronic)
§| 1T T T T 1T T 1T T T T T T T T T T T T T 1T T T | L I§
=L =
[ i\\ _
= i\i =
- - -
= |8 —
— i pu—
— L=~ =
~ iﬁﬂﬁ =
= ﬁﬁ:& =
— ﬁﬁ:ﬁ O¥N -
_ "EEgoo, _
E iﬂi:ia%‘ a o E
- —ﬁifg-@’ =
= E—EHZI‘-—E
= SE
—  m  ALEPH m
= --O-- Herwig++ 2.6.2 default =
— --f3-- Herwig 7.2.1 default —
f!—-!-!-!-!-l-!-!-!-!-l-!:Q!éw:!I:l::I:!::,!E
- . nRT B HE
— C:D\T T ,’I + \@ (ﬁ?\ T,’I: \g) .:l _]
- 5 QaQ FEeRe AN—" ¢ Tl -
— Q. RN u ot Ol -
B Lo 0 Cb,m\? 55, d)@Q]EIE | ]
anogaefoBoonsy wiyse” B[Ry -

SO~ T
- N

| I T T S S | I T T R T I T T T T | I T T

0 0.1 0.2 0.3

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


